Svenska Bridgeférbundet
IAF Allsvenskan, division 2, 8:1 2019-08-31

IMP over faltet, 48 bord, 96 par. Antal brickor: 12.

Plac

Par

Poang

3.58
3.49
3.44
3.19
2.87
2.73
2.52
2.10
2.00
1.94
1.82
1.72
1.66
1.58
1.53
1.35
1.21
1.20
1.14
1.10
1.09
1.09
0.98
0.98
0.90
0.83
0.79
0.77
0.69
0.68
0.66
0.64
0.60
0.60
0.54
0.45
0.44
0.44
0.37
0.36
0.30
0.25
0.23
0.22
0.14
0.06
0.02
0.01
-0.01
-0.02
-0.06
-0.14
-0.22
-0.23
-0.25
-0.30
-0.36
-0.37
-0.44
-0.44
-0.45
-0.54
-0.60
-0.60
-0.64
-0.66
-0.68
-0.69
-0.77
-0.79
-0.83
-0.90
-0.98
-0.98
-1.09
-1.09
-1.10
-1.14
-1.20
-1.21
-1.35
-1.53
-1.58
-1.66
-1.72

Namn

Suzanne Lemborn - Michael Lemborn
Mari Lindblom - Peter Swensson
Goran Rydell - Rudi Knutson
Per-Olov Térnqvist - Gunder Persson
Greger Alfonsson - Gabor Barath

Erik Hansson - Castor Mann

Jan Gutenwik - Perry Sjéberg
Kenneth Wallin - Pasi Kallio

Mikael Lindblom - Jan Andersson
Hakan Johansson - Patrik Johansson
Mikael Olsson - Roger Nyman

Mikael Johansson - Kenneth Hallgren
Tore Stormo - Ylva Strandberg

Sanna Clementsson - Linus Dahlstrém
Maria Gronkvist - Catharina Ahlesved
Mattias Weiler - Kristin Nedlich

Daniel Gustafsson - Niklas Andrén
Peter Olofsson - Bjoérn Ohlsson
Anders Morath - Tommy Gullberg
Lars Ornberg - Jonas Gustafsson
Goran Selldén - Anders Brunzell

Olle Sandstrom - Tommy Linder
Anders Ljungblad - Peter Nuoristo

Ulf Bogren - Jan Nilsson

Per Ostlund Mitchell - Robert Béck
Harald Sjéman - Ingvar Grahn

Ola Stavas - Tomas Brenning

Tom Gards - Daniel Gullberg

Micael Svensson - Peter Arlegard
Mart Altmé&e - Mats Axdorph

Bo Petersson - Torbjorn Nyberg
Niclas Samuelsson - Thomas Axenbratt
Johan Séafsten - Per-Erik Malmstrom
Carina Sjoblom - Lennart Bylund
Tommy Ranta-Mikkula - Benny Olsson
Peggy Nyholm - Tommy Gunnarsson
Gote Berntsson - Per Sjoberg
Thomas Andersson - Johan Bennet
Bo Sundstrém - Jons Johansson
Louise Hallgvist - Ylva Johansson
Hans Johansson - Eva Glans

Peter Backstrand - Stefan Lilja
Bengt-Erik Efraimsson - Anna Zack Efraimsson
Gunnar Andersson - Bjorn Wenneberg
Magnus Wegestal - Dan Nilsson
Peter Ventura - Jesper Rundin
Catarina Midskog - Daniel Anteryd
Hans Olsson - Bengt Palsson
Lars-Erik Johansson - Klaus Claassen
Lennart Fredriksson - Rainer Trapp
David Probert - Géran Lindberg

Jon Eliasson - Carsten Kofoed
Thomas Brehmer - Johan Gronkvist
Pierre Thunstrom - Anders Enstréom
Johan Erlandsson - Sven-Anders Eskilsson
Tobias Bende - Lars Jansson

Leif Ohrn - Jonas Daverstrand

la Borling - Linnea Edlund

Viktor Andréasson - Christian Leo
Ronny Ovesson Ejnell - Jan-Erik Asmo
Arne Jordestedt - Tommy Svensson
Patrik Clevstrom - Annika Corneliusson
Hans Kvick - Bjorn Alenfalk

Dan Bylund - Helena Strémberg

Lars Kennethsson - Per Jansson
Sven-Erik Hallkvist - Carina Hallkvist
Magnus Hultman - Tommy Jansson
Mikael Rydstedt - Lars Lundgren
Emanuel Unge - Erika Rodin

Andreas Westman - Kent Sjoberg
Anders Wersén - Jussi Barzén

Kent Karlsson - Rolf Karlsen

Jan Becklén - Mats Pettersson

Bengt Lundberg - Kjell Glans
Christina Ahl - Malin Helin

Ingemar Assarsjo - Stefan Asgérden
Lars Ericson - Bo Ericson

Micke Glyssner - Henrik Oldenburg
Martin Gardrup - Johan Andersson
Jonas Andersson - Arne Blomaqvist
Emil Tibblin - Staffan Hedman

Joakim Nordlindh - Lars Ramquist
Sune L&bo - Johnny Petersson

Leif Ruthstrém - Gerhard Jérgensen
Per Clarin - Torbjorn Gustavsson
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14984
996
13057
1862
627
53648
6302
1597
5094
12954
8561
3510
78250
55629
1076
11482
89269
5771
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14186
4863
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486
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5914
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51632
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3723
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14410
13838
127
18507
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47527
4133
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MID

1215
15345
4857
7640
916
58464
5775
4029
11704
8899
7522
9758
9217
44253
7124
85109
1623
5648
9047
2414
12576
13938
5502
4501
11174
5064
4472
37167
4024
2053
12682
10248
23472
8234
592
10295
2494
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36579
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5868
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13338
14182
30089
3511
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577
2970
7520
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2828
12565
2485
6161
8415
10275
93303
3260
14776
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5587
15295
30933
3901
2962
9549
40197
7005
3734
80480
10420
12288
1255




86 Al -1.82 Jan Nilsson - Torgild Olsson 11991 2730
87 E202 -1.94 Joel Henriksson - Ronny Johansson 56963 969
88 G204 -2.00 Goran Linerudt - Niclas Johansson 15037 14128
89 G205 -2.10 Ove Bergman - Mats Hollstrom 3721 654
90 F304 -2.52 Hans Velin - Krister Ekudd 1179 1186
91 Gl -2.73 Tomas Bérgesson - Claes Ahgren 1073 2664
92 F302 -2.87 Gunnar Sjokvist - Per Bretz 10488 894
93 A203 -3.19 Stefan Corneliusson - Tommy Somlo 38625 12620
94 A2 -3.44 Tommy Andersen - Hans Friberg 59227 47152
95 El -3.49 Robert Frank - Johan Goéransson 25150 6915
96 G206 -3.58 Péar Andersson - Fredrik Mirhag 12130 15818
1 .- Basta kontrakt 2 aE2 Basta kontrakt
Nord v KKn854 4¢ N =130 Ost v KDKn862 74 O D -8 2000
Ingen + K109876 NS ¢ Kn93
#Kn2 % ¢ v & NT 92 & ¢ v & NT
4 KKn94 41082 N 3 106 5 6 41098654 4 DKn3 N 119 137 12
v 976 vED32 S 3 106 5 6 v 1043 v7 S 119 137 12
4432 +5 082676 +D + K87542 0140651
#E85 «KD764 V926286 #Kn65 «D104 V14051
« ED7653 &« K7
v10 vE95
¢ EDKn ¢+ E106
#1093 &#EK873
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G6 G206 5¢ N= +K 400 435.0 -435.0 E2 E202 7v S= +Q 2210 695.0 -695.0
F104 F304 5¢ N= «K 400 435.0 -435.0 A3 A203 7v N= +4 2210 695.0 -695.0
Gl G201 3¢ N+2 &K 150 201.0 -201.0 D104 D304 7v N= +4 2210 695.0 -695.0
G4 G204 3¢ N+2 2 150 201.0 -201.0 F105 F305 7v N= L) 2210 695.0 -695.0
D101 D301 3¢ N +2 «K 150 201.0 -201.0 G6 G206 74DV-7 vK 1700 471.0 -471.0
F102 F302 4¢ N+1 *K 150 201.0 -201.0 C3 C203 6v N +1 +Q 1460 353.0 -353.0
F106 F306 5# O -3 s A 150 201.0 -201.0 A5 A205 6v N +1 4Q 1460 353.0 -353.0
H106 H306 3¢ N +2 +3 150 201.0 -201.0 C5 C205 6v N +1 *7 1460 353.0 -353.0
A3 A203 44 N= &K 130 181.0 -181.0 H102 H302 6v N +1 +Q 1460 353.0 -353.0
A5 A205 4¢ N= +K 130 181.0 -181.0 H103 H303 6v S+1 +Q 1460 353.0 -353.0
C5 C205 3¢ N+1 +3 130 181.0 -181.0 B104 B304 6v S+1 +Q 1460 353.0 -353.0
B102 B302 3¢ N+1 *K 130 181.0 -181.0 D106 D306 6v N +1 +4 1460 353.0 -353.0
D102 D302 3¢ S+1 *7 130 181.0 -181.0 G4 G204 6v S= ¢4 1430 316.0 -316.0
D103 D303 4¢ N= «K 130 181.0 -181.0 E6 E206 6v N = +4 1430 316.0 -316.0
F103 F303 2¢ N +2 *K 130 181.0 -181.0 F101 F301 6v N= *7 1430 316.0 -316.0
B106 B306 3¢ N +1 +5 130 181.0 -181.0 B105 B305 6v N = ¢4 1430 316.0 -316.0
Al A201 3¢ N= *Q 110 146.0 -146.0 F102 F302 64DV -6 «9 1400 300.0 -300.0
C6 C206 3¢ N= &K 110 146.0 -146.0 A2 A202 44DV -4 vK 800 -122.0 122.0
E6 E206 2¢ N +1 &K 110 146.0 -146.0 B101 B301 3N S +4 aT 720 -205.0 205.0
B103 B303 3¢ N= +5 110 146.0 -146.0 Al A201 4v S+3 +Q 710 -217.0 217.0
G5 G205 54D O -1 vT 100 140.0 -140.0 Gl G201 5v N+2 +Q 710 -217.0 217.0
El E201 5¢ N-1 +K -50 -19.0 19.0 C2 C202 4v N +3 45 710 -217.0 217.0
C3 C203 5¢ N-1 «K -50 -19.0 19.0 G2 G202 4v N+3 2 710 -217.0 217.0
G3 G203 INV= v4 -90 -69.0 69.0 G3 G203 4y N+3 +Q 710 -217.0 217.0
E4 E204 24 S-2 2 -100 -73.0 73.0 A4 A204 4v N +3 +3 710 -217.0 217.0
B101 B301 24 S-2 «5 -100 -73.0 73.0 C4 C204 4v S+3 +Q 710 -217.0 217.0
F101 F301 3NN-2 LY -100 -73.0 73.0 E4 E204 4v N +3 +Q 710 -217.0 217.0
D105 D305 24 S-2 +3 -100 -73.0 73.0 G5 G205 4y N+3 v7 710 -217.0 217.0
A6 A206 3% O +1 vT -130 -107.0 107.0 A6 A206 4v N +3 a) 710 -217.0 217.0
H102 H302 3# O +1 vT -130 -107.0 107.0 C6 C206 4v N +3 49 710 -217.0 217.0
H104 H304 3# O +1 43 -130 -107.0 107.0 D101 D301 4v N +3 4Q 710 -217.0 217.0
C1 C201 24 S-3 v6 -150 -134.0 134.0 H101 H301 5v N +2 4Q 710 -217.0 217.0
E2 E202 24 S-3 &A -150 -134.0 134.0 B102 B302 5v N +2 *4 710 -217.0 217.0
G2 G202 44 S-3 *A -150 -134.0 134.0 D102 D302 4v N +3 v7 710 -217.0 217.0
C4 C204 24 S-3 v6 -150 -134.0 134.0 D103 D303 4v S +3 +Q 710 -217.0 217.0
H103 H303 2v N -3 2 -150 -134.0 134.0 F104 F304 4v S +3 +Q 710 -217.0 217.0
B104 B304 24 S-3 v6 -150 -134.0 134.0 H104 H304 5v N +2 4Q 710 -217.0 217.0
B105 B305 24 S-3 v6 -150 -134.0 134.0 D105 D305 4v S +3 +Q 710 -217.0 217.0
D106 D306 24 S-3 v6 -150 -134.0 134.0 H105 H305 4v N +3 +Q 710 -217.0 217.0
E3 E203 34 S-4 v6 -200 -195.0 195.0 B106 B306 4v N +3 v7 710 -217.0 217.0
A4 A204 34 S-4 v3 -200 -195.0 195.0 H106 H306 4v N +3 +Q 710 -217.0 217.0
E5 E205 34 S-4 v6 -200 -195.0 195.0 C1 C201 3N S +3 +Q 690 -246.0 246.0
H101 H301 34 S-4 v2 -200 -195.0 195.0 F106 F306 3N S +3 +Q 690 -246.0 246.0
D104 D304 34 S-4 *A -200 -195.0 195.0 E3 E203 4v N +2 ¢+ 4 680 -250.0 250.0
F105 F305 24 S-4 2 -200 -195.0 195.0 E5 E205 4v S +2 +Q 680 -250.0 250.0
H105 H305 34 S-4 *A -200 -195.0 195.0 B103 B303 4v S +2 +Q 680 -250.0 250.0
C2 C202 34D O +1 vT -570 -487.0 487.0 F103 F303 4v S +2 +Q 680 -250.0 250.0
A2 A202 24DS-4 v7 -800 -604.0 604.0 El E201 6# S-1 +Q -100 -693.0 693.0
3 « ED1097 Basta kontrakt 4 4 K10 Basta kontrakt
Syd v EDKn 5NT S =460 Vast vKn63 6NT N =1440
(6)) ¢+ E10 Alla + Kn8652
#Kn103 & ¢ v & NT #K102 & ¢ v & NT
4 K4 4 652 N 10109 1111 48 49754 N 7 12101212
v 86543 v92 S 10109 1111 vD10982 v54 S 7 12101212
+95 ¢ KKn742 033422 ¢ K7 4943 051311
D654 #K87 V33422 #D8543 #Kn976 V51311
4« Kn83 « EDKn632
v K107 v EK7
+ D863 ¢+ EDI10
&E92 &E
Par Kontr ut Res Poang Par Kontr ut Res Poang
B102 B302 2¢DO -5 +5 1400 660.0 -660.0 H105 H305 64 S +1 v9 1460 259.0 -259.0
C1 C201 3NN +3 2 490 30.0 -30.0 F102 F302 6N S= v9 1440 223.0 -223.0
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E2 E202 3N N +3 *4 490 30.0 -30.0 F104 F304 6N S= &3 1440 223.0 -223.0
G3 G203 3NN +3 *2 490 30.0 -30.0 Cc2 C202 64 S= &3 1430 223.0 -223.0
A5 A205 3N S +3 v3 490 30.0 -30.0 A3 A203 64 S= LY:] 1430 223.0 -223.0
E5 E205 3N N +3 *2 490 30.0 -30.0 E3 E203 64 S = LY:] 1430 223.0 -223.0
B103 B303 3N N +3 v2 490 30.0 -30.0 G3 G203 64 S= v2 1430 223.0 -223.0
F105 F305 3N N+3 *2 490 30.0 -30.0 A4 A204 64 S= a3 1430 223.0 -223.0
A2 A202 44 N +2 *4 480 30.0 -30.0 A5 A205 64 S= &3 1430 223.0 -223.0
Cc2 C202 44 N +2 *2 480 30.0 -30.0 C5 C205 64 S= ’Y:] 1430 223.0 -223.0
E3 E203 44 N +2 a4 480 30.0 -30.0 E5 E205 64 S = &3 1430 223.0 -223.0
Cc4 C204 4e N +2 *2 480 30.0 -30.0 G5 G205 64 S= v8 1430 223.0 -223.0
E6 E206 44 N +2 a2 480 30.0 -30.0 A6 A206 64 S = &4 1430 223.0 -223.0
D101 D301 44 N +2 *2 480 30.0 -30.0 C6 C206 64 S= LY:] 1430 223.0 -223.0
Al A201 3N S +2 +9 460 -16.0 16.0 G6 G206 64 S= LY:] 1430 223.0 -223.0
E1l E201 3N S +2 +9 460 -16.0 16.0 D101 D301 64 S= v9 1430 223.0 -223.0
A3 A203 3N S +2 v3 460 -16.0 16.0 F101 F301 64 S= v9 1430 223.0 -223.0
G4 G204 3NN +2 v9 460 -16.0 16.0 H101 H301 64 S= &3 1430 223.0 -223.0
F101 F301 3N S+2 v3 460 -16.0 16.0 B104 B304 64 S = v9 1430 223.0 -223.0
F102 F302 3N S +2 +9 460 -16.0 16.0 D104 D304 64 S= v9 1430 223.0 -223.0
D103 D303 3N S +2 +9 460 -16.0 16.0 F105 F305 64 S= &2 1430 223.0 -223.0
F103 F303 3N S +2 v3 460 -16.0 16.0 B106 B306 64 S = &4 1430 223.0 -223.0
H103 H303 3N S +2 +9 460 -16.0 16.0 D106 D306 64 S= LY:] 1430 223.0 -223.0
B104 B304 3N S +2 v6 460 -16.0 16.0 F106 F306 64 S= LY:] 1430 223.0 -223.0
H105 H305 3N S +2 v2 460 -16.0 16.0 E2 E202 6¢ N= v4 1370 148.0 -148.0
B106 B306 3N S +2 &5 460 -16.0 16.0 G2 G202 64 N= v2 1370 148.0 -148.0
D106 D306 3N S +2 v8 460 -16.0 16.0 C3 C203 64 N= v3 1370 148.0 -148.0
F106 F306 3N S +2 +9 460 -16.0 16.0 C4 C204 64 N= v5 1370 148.0 -148.0
Gl G201 44 N+1 v9 450 -16.0 16.0 E4 E204 6¢ N= v5 1370 148.0 -148.0
G2 G202 44 N +1 v2 450 -16.0 16.0 G4 G204 64 N= v4 1370 148.0 -148.0
C3 C203 4e N+1 v9 450 -16.0 16.0 H104 H304 6¢ N= v5 1370 148.0 -148.0
A4 A204 4s N +1 +3 450 -16.0 16.0 H106 H306 6¢ N= v3 1370 148.0 -148.0
E4 E204 4v N +1 v9 450 -16.0 16.0 Gl G201 44 S+3 v5 710 -359.0 359.0
C5 C205 4e N+1 a3 450 -16.0 16.0 F103 F303 54 S+2 v9 710 -359.0 359.0
G5 G205 44 N +1 v9 450 -16.0 16.0 B105 B305 54 S +2 vT 710 -359.0 359.0
A6 A206 44 N +1 v2 450 -16.0 16.0 D105 D305 24 V-7 +3 700 -360.0 360.0
Cc6 C206 4e N+1 v9 450 -16.0 16.0 C1l C201 4 S+2 v9 680 -397.0 397.0
G6 G206 44 N +1 a2 450 -16.0 16.0 E1l E201 4 S+2 &3 680 -397.0 397.0
B101 B301 4e N+1 v9 450 -16.0 16.0 A2 A202 44 S +2 vT 680 -397.0 397.0
H101 H301 44 S+1 v3 450 -16.0 16.0 E6 E206 44 S +2 v9 680 -397.0 397.0
D102 D302 44 N +1 v9 450 -16.0 16.0 B101 B301 4 S +2 v9 680 -397.0 397.0
H102 H302 44 N +1 v8 450 -16.0 16.0 B102 B302 4 S +2 v2 680 -397.0 397.0
D104 D304 44 N +1 a2 450 -16.0 16.0 H102 H302 44 S+2 &2 680 -397.0 397.0
F104 F304 44 S+1 v6 450 -16.0 16.0 B103 B303 44 S +2 vT 680 -397.0 397.0
H104 H304 44 N +1 v9 450 -16.0 16.0 D103 D303 44 N +2 &9 680 -397.0 397.0
B105 B305 44 N +1 a2 450 -16.0 16.0 H103 H303 44 S +2 v2 680 -397.0 397.0
D105 D305 44 N +1 a2 450 -16.0 16.0 D102 D302 5¢ N +1 v5 620 -435.0 435.0
H106 H306 64 N-1 a3 -50 -522.0 522.0 Al A201 74 S-1 vT -100 -730.0 730.0
5 & 842 Basta kontrakt 6 & K2 Basta kontrakt
Nord v Kn432 6¢ O =-920 Ost vED72 34 O =-140
NS +6 ov + E1085
&#DKn742 & ¢ v & NT #1032 & ¢ v & NT
a4 KKn3 &E7 N31342 49 & EKNn10843 N6 44414
vK985 v76 S31342 vKnl1063 v K98 S6 4434
+KD9 ¢ EKnNn853 O 1012109 11 +D97642 ¢ K O7 89938
#K96 &#E1053 V 1012109 11 D6 &EKKnN V78998
« D10965 « D765
vED10 v54
+ 10742 ¢ Kn3
&3 98754
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F101 F301 6NO-1 *4 50 502.0 -502.0 B105 B305 3NV-2 &2 200 399.0 -399.0
F103 F303 4¢ O= 49 -130 354.0 -354.0 C1l C201 44 O-1 v5 100 306.0 -306.0
C1l C201 3NV +1 a2 -430 26.0 -26.0 G6 G206 3NV-1 v7 100 306.0 -306.0
E2 E202 3NV +1 a2 -430 26.0 -26.0 D101 D301 34 O-1 &4 100 306.0 -306.0
C3 C203 3N O +1 a5 -430 26.0 -26.0 B102 B302 34 O-1 &3 100 306.0 -306.0
Cc4 C204 3N O +1 a5 -430 26.0 -26.0 B103 B303 3NV-1 &T 100 306.0 -306.0
E5 E205 3N O +1 a5 -430 26.0 -26.0 F104 F304 3NV-1 vA 100 306.0 -306.0
G5 G205 3NV +1 a2 -430 26.0 -26.0 H104 H304 34 O-1 &7 100 306.0 -306.0
B101 B301 3NV +1 a2 -430 26.0 -26.0 Al A201 24 O= v5 -110 95.0 -95.0
F105 F305 3NV +1 a2 -430 26.0 -26.0 A3 A203 24 O = v5 -110 95.0 -95.0
H106 H306 3N O +1 a2 -430 26.0 -26.0 A4 A204 2¢ V +1 &3 -110 95.0 -95.0
Al A201 3NV +2 a2 -460 -22.0 22.0 H101 H301 24 O= &4 -110 95.0 -95.0
E1l E201 3NV +2 a2 -460 -22.0 22.0 E2 E202 24 O +1 v5 -140 53.0 -53.0
Gl G201 3NV +2 LY:] -460 -22.0 22.0 C3 C203 24 O +1 &4 -140 53.0 -53.0
Cc2 C202 3NV +2 LY:] -460 -22.0 22.0 G3 G203 34 O= v5 -140 53.0 -53.0
G2 G202 3NV +2 48 -460 -22.0 22.0 C4 C204 24 O +1 &9 -140 53.0 -53.0
A3 A203 3NV +2 &2 -460 -22.0 22.0 D105 D305 24 O +1 v5 -140 53.0 -53.0
E3 E203 3N O +2 a5 -460 -22.0 22.0 F105 F305 24 O +1 v5 -140 53.0 -53.0
G3 G203 3NV +2 &2 -460 -22.0 22.0 H105 H305 24 O +1 &9 -140 53.0 -53.0
A4 A204 3N O +2 49 -460 -22.0 22.0 B106 B306 34 O= &8 -140 53.0 -53.0
E4 E204 3NV +2 LY:] -460 -22.0 22.0 F106 F306 2v O +1 *J -140 53.0 -53.0
G4 G204 3NV +2 a2 -460 -22.0 22.0 E1l E201 24 O +2 v5 -170 13.0 -13.0
C5 C205 3NV +2 a2 -460 -22.0 22.0 A2 A202 34 O +1 v3 -170 13.0 -13.0
A6 A206 3NV +2 LY:] -460 -22.0 22.0 C2 C202 24 O +2 &9 -170 13.0 -13.0
C6 C206 3NV +2 a2 -460 -22.0 22.0 E3 E203 24 O +2 &4 -170 13.0 -13.0
E6 E206 3N O +2 49 -460 -22.0 22.0 E4 E204 24 O +2 v5 -170 13.0 -13.0
G6 G206 3NV +2 a2 -460 -22.0 22.0 G4 G204 24 O +2 v5 -170 13.0 -13.0
D101 D301 3NV +2 a2 -460 -22.0 22.0 A5 A205 24 O +2 &4 -170 13.0 -13.0
H101 H301 3NV +2 LY -460 -22.0 22.0 ES5 E205 24 O +2 &9 -170 13.0 -13.0
B102 B302 3NV +2 &4 -460 -22.0 22.0 G5 G205 24 O +2 v5 -170 13.0 -13.0
D102 D302 3NV +2 a2 -460 -22.0 22.0 C6 C206 24 O +2 v5 -170 13.0 -13.0




F102 F302 3N O +2 49 -460 -22.0 22.0 B101 B301 24 QO +2 &5 -170 13.0 -13.0
H102 H302 3NV +2 &2 -460 -22.0 22.0 F101 F301 24 O +2 &3 -170 13.0 -13.0
D103 D303 3NV +2 a2 -460 -22.0 22.0 D102 D302 24 O +2 »9 -170 13.0 -13.0
F104 F304 3NV +2 v3 -460 -22.0 22.0 F102 F302 24 O +2 &9 -170 13.0 -13.0
H104 H304 3NV +2 a2 -460 -22.0 22.0 H102 H302 24 O +2 v5 -170 13.0 -13.0
B105 B305 3NV +2 a2 -460 -22.0 22.0 D103 D303 24 O +2 »9 -170 13.0 -13.0
D105 D305 3NV +2 a2 -460 -22.0 22.0 D104 D304 24 O +2 v5 -170 13.0 -13.0
H105 H305 3NV +2 a2 -460 -22.0 22.0 D106 D306 24 O +2 &9 -170 13.0 -13.0
B106 B306 3NV +2 &4 -460 -22.0 22.0 H106 H306 3#DN -3 49 -500 -322.0 322.0
D106 D306 3NV +2 a2 -460 -22.0 22.0 G2 G202 3NO= &4 -600 -406.0 406.0
F106 F306 3NV +2 a2 -460 -22.0 22.0 C5 C205 3NV = &2 -600 -406.0 406.0
A2 A202 3NV +3 &4 -490 -68.0 68.0 A6 A206 3NV = &T -600 -406.0 406.0
A5 A205 3NV +3 &2 -490 -68.0 68.0 F103 F303 3NV= &2 -600 -406.0 406.0
B103 B303 3NV +3 48 -490 -68.0 68.0 B104 B304 3NV = &2 -600 -406.0 406.0
H103 H303 3N O +3 vA -490 -68.0 68.0 E6 E206 44 O= v5 -620 -418.0 418.0
B104 B304 3NV +3 &2 -490 -68.0 68.0 H103 H303 3NV +1 s K -630 -419.0 419.0
D104 D304 3NV +3 &2 -490 -68.0 68.0 G1 G201 3NV +2 vA -660 -443.0 443.0
7 486 Béasta kontrakt 8 « EDKn1032 Basta kontrakt
Syd v K8765 3v S =140 Vast vD7 4y ND-1-100
Alla *2 Ingen ¢ EKKn
#D9532 & ¢ v o N 93 & ¢ v aN
4 K10975 4Kn42 N 105 9 5 8 aKB65 &7 N3 7986
v 1042 v D93 S 106 9 6 8 vE532 vKn4 S37998
+Kn853 ¢ ED76 027 475 .7 + D6542 096 2 33
&4 #EKn8 V273765 #E1087 #DKn652 V 106 2 3 3
« ED3 494
v EKn v K10986
¢ K1094 + 10983
#K1076 »K4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H106 H306 3NN +1 46 630 451.0 -451.0 G5 G205 1vDV-5 *A 1100 671.0 -671.0
E2 E202 3NS= a7 600 432.0 -432.0 H102 H302 54DV -3 *A 500 421.0 -421.0
G6 G206 3NS= 49 600 432.0 -432.0 G4 G204 4v S+1 *7 450 382.0 -382.0
H103 H303 3N S= a5 600 432.0 -432.0 H106 H306 4v N +1 +6 450 382.0 -382.0
F104 F304 3NS= +8 600 432.0 -432.0 C3 C203 44 N= vJ 420 354.0 -354.0
B105 B305 3N S= aT 600 432.0 -432.0 H101 H301 4v S= 2 420 354.0 -354.0
C3 C203 2v S+2 &4 170 24.0 -24.0 A3 A203 54DV -2 *A 300 251.0 -251.0
E3 E203 2v S+2 &4 170 24.0 -24.0 C1 C201 2N O -4 v5 200 145.0 -145.0
El E201 3& S +2 &4 150 -11.0 11.0 F104 F304 24 N +3 vJ 200 145.0 -145.0
H101 H301 4% S +1 &3 150 -11.0 11.0 E3 E203 1a N +3 vJ 170 124.0 -124.0
B104 B304 3& S +2 &4 150 -11.0 11.0 Ca C204 24 N +2 vJ 170 124.0 -124.0
C1 C201 2v S+1 &4 140 -18.0 18.0 F102 F302 24 N +2 vJ 170 124.0 -124.0
A2 A202 2v S+1 &4 140 -18.0 18.0 H103 H303 14 N +3 vJ 170 124.0 -124.0
A3 A203 2v S+1 &4 140 -18.0 18.0 D105 D305 24 N +2 &Q 170 124.0 -124.0
A4 A204 2v S+1 &3 140 -18.0 18.0 H105 H305 24 N +2 vJ 170 124.0 -124.0
E4 E204 2v S +1 &4 140 -18.0 18.0 E4 E204 34 N= &Q 140 81.0 -81.0
A5 A205 2v N +1 46 140 -18.0 18.0 D104 D304 34 N= &Q 140 81.0 -81.0
C5 C205 2v S+1 &4 140 -18.0 18.0 F105 F305 24 N +1 &0 140 81.0 -81.0
E5 E205 2v S +1 &4 140 -18.0 18.0 A5 A205 24 N= &Q 110 38.0 -38.0
C6 C206 2v S+1 &4 140 -18.0 18.0 C6 C206 24 N= vJ 110 38.0 -38.0
E6 E206 2v S+1 &4 140 -18.0 18.0 G6 G206 24 N= &*Q 110 38.0 -38.0
D101 D301 2v S+1 &3 140 -18.0 18.0 B103 B303 24 N= &5 110 38.0 -38.0
F102 F302 2v S+1 &4 140 -18.0 18.0 B104 B304 24 N= &3 110 38.0 -38.0
F103 F303 2v S+1 &4 140 -18.0 18.0 B106 B306 24 N = vJ 110 38.0 -38.0
D104 D304 2v S+1 &4 140 -18.0 18.0 El E201 3NS-1 &8 -50 -128.0 128.0
H104 H304 2v S+1 &4 140 -18.0 18.0 Cc2 C202 34 N-1 &Q -50 -128.0 128.0
F105 F305 2v S+1 &3 140 -18.0 18.0 E5 E205 44 N-1 *Q -50 -128.0 128.0
H105 H305 2v S+1 &4 140 -18.0 18.0 A6 A206 34 N-1 &J -50 -128.0 128.0
Al A201 34 S+1 &4 130 -22.0 22.0 E6 E206 3N S-1 &8 -50 -128.0 128.0
C4 C204 3& S+1 +5 130 -22.0 22.0 D101 D301 44 N-1 &Q -50 -128.0 128.0
G4 G204 4% S= +5 130 -22.0 22.0 D102 D302 34 N-1 &Q -50 -128.0 128.0
D102 D302 34 S+1 +3 130 -22.0 22.0 D106 D306 3NS-1 &7 -50 -128.0 128.0
B103 B303 44 S= &4 130 -22.0 22.0 Al A201 34 N-2 EN] -100 -194.0 194.0
D105 D305 2# S +2 a5 130 -22.0 22.0 G1 G201 44 N-2 &Q -100 -194.0 194.0
G1 G201 2v S= &4 110 -60.0 60.0 G3 G203 3NS-2 &8 -100 -194.0 194.0
Cc2 C202 3&S= +5 110 -60.0 60.0 A4 A204 44 N -2 &Q -100 -194.0 194.0
G5 G205 2v S= v3 110 -60.0 60.0 B101 B301 3N N -2 &2 -100 -194.0 194.0
B101 B301 2v S= &4 110 -60.0 60.0 F101 F301 INN-2 &2 -100 -194.0 194.0
B102 B302 2v N= a2 110 -60.0 60.0 B102 B302 44 N-2 *Q -100 -194.0 194.0
D103 D303 2v S= &4 110 -60.0 60.0 D103 D303 44 N-2 &Q -100 -194.0 194.0
D106 D306 2v S= &4 110 -60.0 60.0 F103 F303 44 N-2 &Q -100 -194.0 194.0
A6 A206 3NO-1 »7 100 -69.0 69.0 H104 H304 44 N -2 *0Q -100 -194.0 194.0
G2 G202 2v N-1 a5 -100 -282.0 282.0 B105 B305 44 N -2 vJ -100 -194.0 194.0
G3 G203 2v N-1 a2 -100 -282.0 282.0 E2 E202 3& V= *A -110 -203.0 203.0
F101 F301 5# N-1 *A -100 -282.0 282.0 F106 F306 3# O= &2 -110 -203.0 203.0
H102 H302 3NS-1 48 -100 -282.0 282.0 A2 A202 44 N-3 vJ -150 -252.0 252.0
B106 B306 2v N-1 a2 -100 -282.0 282.0 G2 G202 44 N-3 s A -150 -252.0 252.0
F106 F306 24 V= 2 -110 -289.0 289.0 C5 C205 44 N-3 *0Q -150 -252.0 252.0
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9 45 Basta kontrakt 10 4« DKn95 Basta kontrakt
Nord v KD8765 5v N D -3-500 Ost v7 4v O =-620
ov ¢ Kn1052 Alla ¢ EK52
92 & ¢ v &4 NT #KD53 & ¢ v & NT
4743 & EKKn862 N6 683 4 «E732 4 K8 N46 365
v94 vE103 S6638 34 vK10943 vEKn5 S46 365
49863 +¢EK O7 75 109 ¢ Kn63 +98 09 5 107 8
#10864 #ED vV 775 109 *Kn #E109762 vV 95 107 8
«D109 » 1064
v Kn2 v D862
¢ D74 ¢+ D1074
#KKn753 84
Par Kontr ut Res Poang Par Kontr Ut Res Poang
A6 A206 64 V-3 vK 300 592.0 -592.0 B101 B301 34 0O-2 +6 200 374.0 -374.0
D101 D301 64 V-3 ¢5 300 592.0 -592.0 D103 D303 24 S= EN) 110 286.0 -286.0
F103 F303 64 V-3 vK 300 592.0 -592.0 E4 E204 3v V-1 +Q 100 277.0 -277.0
D102 D302 64 V-2 vK 200 532.0 -532.0 G4 G204 3+ 0-1 a4 100 277.0 -277.0
F102 F302 64 V-2 vK 200 532.0 -532.0 G5 G205 3#0-1 T 100 277.0 -277.0
E3 E203 34 O= vJ -140 347.0 -347.0 D102 D302 3+ O-1 *7 100 277.0 -277.0
G2 G202 5v N- +K -150 347.0 -347.0 F104 F304 4v V-1 ¢ A 100 277.0 -277.0
Cl C201 34 O+1 vJ -170 340.0 -340.0 A3  A203 1a N= *9 80 259.0 -259.0
H103  H303 34 O +1 vJ -170 340.0 -340.0 Al A201 24 O= a5 -90 81.0 -81.0
Al A201 44 O= vJ -620 -107.0 107.0 E6 E206 2% O = a4 -90 81.0 -81.0
El E201 4y O= vJ -620 -107.0 107.0 F105 F305 2# O = a2 -90 81.0 -81.0
Gl G201 44 O= vJ -620 -107.0 107.0 Cl C201 24O +1 a5 -110 59.0 -59.0
A2 A202 44 O = vJ -620 -107.0 107.0 Gl G201 2v V= ¢ A -110 59.0 -59.0
C2 C202 4a V= vK -620 -107.0 107.0 E2 E202 3# O = v6 -110 59.0 -59.0
E2 E202 44 O= vJ -620 -107.0 107.0 A6  A206 3+ 0= v6 -110 59.0 -59.0
A3 A203 44 O= vJ -620 -107.0 107.0 F102 F302 2# O +1 v6 -110 59.0 -59.0
C3 C203 44 O= vJ -620 -107.0 107.0 H102 H302 3# O = v6 -110 59.0 -59.0
G3 G203 44 O= vJ -620 -107.0 107.0 B103 B303 2# O +1 a4 -110 59.0 -59.0
A4 A204 44 O= vJ -620 -107.0 107.0 D105 D305 3#O= a4 -110 59.0 -59.0
C4 C204 4e V= vK -620 -107.0 107.0 D106 D306 2% O +1 a4 -110 59.0 -59.0
E4 E204 44 O= vJ -620 -107.0 107.0 G2 G202 2NO= +3 -120 50.0 -50.0
G4 G204 44 O= vJ -620 -107.0 107.0 A5  A205 3v V= ¢ A -140 13.0 -13.0
A5  A205 44 O= vJ -620 -107.0 107.0 C5 C205 2v V+1 LY6) -140 13.0 -13.0
C5 C205 44 V= vK -620 -107.0 107.0 ES5 E205 3v V= ¢ A -140 13.0 -13.0
G5 G205 44 O= vJ -620 -107.0 107.0 G6 G206 3v O= a4 -140 13.0 -13.0
C6 C206 44 O= vJ -620 -107.0 107.0 D101 D301 2v V+1 +Q -140 13.0 -13.0
E6 E206 44 O= vJ -620 -107.0 107.0 H101 H301 3v O= 4Q -140 13.0 -13.0
G6 G206 44 V= vK -620 -107.0 107.0 B104 B304 2v O +1 *7 -140 13.0 -13.0
B101 B301 44 O= vJ -620 -107.0 107.0 H105 H305 3v V= v6 -140 13.0 -13.0
F101 F301 44 O = 2 -620 -107.0 107.0 A2 A202 2v V +2 v7 -170 -25.0 25.0
H101 H301 44 O= vJ -620 -107.0 107.0 C2 C202 3v V+1 +Q -170 -25.0 25.0
B102 B302 44 O= vJ -620 -107.0 107.0 G3 G203 2v V+2 ¢ A -170 -25.0 25.0
H102 H302 44 O = vJ -620 -107.0 107.0 C4 C204 3v V+1 ¢ A -170 -25.0 25.0
B103 B303 44 O = vJ -620 -107.0 107.0 C6 C206 2v V+2 ¢ A -170 -25.0 25.0
D103 D303 44 O= vJ -620 -107.0 107.0 F103 F303 2v V +2 ¢A -170 -25.0 25.0
B104 B304 44 O= vJ -620 -107.0 107.0 H103  H303 3v V+1 +Q -170 -25.0 25.0
D104 D304 44 O= vJ -620 -107.0 107.0 D104 D304 2v V +2 +Q -170 -25.0 25.0
F104 F304 44 O = vJ -620 -107.0 107.0 B105 B305 3v V+1 ¢ A -170 -25.0 25.0
H104  H304 44 O= vJ -620 -107.0 107.0 F106 F306 3v V +1 4Q -170 -25.0 25.0
B105 B305 44 O= vJ -620 -107.0 107.0 E3 E203 3¢ S-2 vT -200 -65.0 65.0
D105 D305 44 O= vJ -620 -107.0 107.0 B102 B302 3¢ S-2 L) -200 -65.0 65.0
F105 F305 44 O = vJ -620 -107.0 107.0 H106  H306 2v O +3 ¢ A -200 -65.0 65.0
H105 H305 4y O= vlJ -620 -107.0 107.0 C3 C203 4v V= v7 -620 -440.0 440.0
B106 B306 44 V= vQ -620 -107.0 107.0 A4 A204 4y V= ¢A -620 -440.0 440.0
D106 D306 44 O= vJ -620 -107.0 107.0 F101 F301 4v V= +K -620 -440.0 440.0
F106 F306 44 O = vJ -620 -107.0 107.0 H104  H304 4v V= ¢ A -620 -440.0 440.0
H106  H306 44 O= vJ -620 -107.0 107.0 B106 B306 4v V= ¢+ K -620 -440.0 440.0
E5 E205 44 O +1 vJ -650 -148.0 148.0 El E201 3vDV+1 ¢ A -930 -587.0 587.0
11 4 Kn975 Béasta kontrakt 12 4972 Béasta kontrakt
Syd vD6 4¢ SD-1-100 Vast v 82 34 V =-140
Ingen ¢ K984 NS + K108
987 & ¢ v &4 NT #K9852 & ¢ v & NT
4K1042 «8 N3 9583 «ED8 4 Kn1065 N45 435
vEK543 vKn8 S$39583 vEKn1065 vK9 S$45545
+32 41065 O 104 7 4 8 ¢ 953 + Kn62 088389 38
*E3 #KDKn6542 vV 104 7 4 8 *E7 #DKn104 vV 88898
« ED63 4 K43
v 10972 vD743
¢ EDKn7 ¢ED74
+10 #63
Par Kontr ut Res Poang Par Kontr ut Res Poang
F105 F305 4v V-4 +8 200 319.0 -319.0 A3  A203 3NO-2 *4 100 283.0 -283.0
C3 C203 4v V-3 ¢7 150 265.0 -265.0 F102 F302 3N O -2 *4 100 283.0 -283.0
G6 G206 4v V-3 +8 150 265.0 -265.0 F103 F303 2N O -2 *7 100 283.0 -283.0
D105 D305 4v V-3 +8 150 265.0 -265.0 E3 E203 2N O-1 +3 50 228.0 -228.0
Cl C201 34 S-= vA 140 264.0 -264.0 A4 A204 3NV-1 3 50 228.0 -228.0
H104  H304 34 N= &K 140 264.0 -264.0 B101 B301 3NV-1 9 50 228.0 -228.0
E3 E203 3¢ S= vA 110 218.0 -218.0 B102 B302 3NV-1 &5 50 228.0 -228.0
G5 G205 3v V-2 +8 100 213.0 -213.0 Cl C201 INV= *2 -90 61.0 -61.0
C2 C202 3NV-1 +4 50 156.0 -156.0 E2 E202 INV= *2 -90 61.0 -61.0
A4 A204 5% 0O-1 ¢*A 50 156.0 -156.0 F104 F304 INV= *2 -90 61.0 -61.0
B101 B301 2v V-1 +8 50 156.0 -156.0 B106 B306 INV= &5 -90 61.0 -61.0
B102 B302 4v V-1 +4 50 156.0 -156.0 E6 E206 2v V= &2 -110 28.0 -28.0
D104 D304 54 0O-1 ¢A 50 156.0 -156.0 D102 D302 24 O = *6 -110 28.0 -28.0
F106 F306 2v O-1 &T 50 156.0 -156.0 F106 F306 24 O = *6 -110 28.0 -28.0
E2 E202 34 N-1 *Q -50 33.0 -33.0 Al A201 1INV +1 &2 -120 20.0 -20.0
H105 H305 3¢ S-1 vA -50 33.0 -33.0 El E201 1INV +1 *2 -120 20.0 -20.0
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H306 3¢ N-1 vA -50 33.0 -33.0 E4 E204 1INV +1 &5 -120 20.0 -20.0
E201 34DS-1 vA -100 -21.0 21.0 G4 G204 1INV +1 &2 -120 20.0 -20.0
A203 34 O = ¢ A -110 -27.0 27.0 A5 A205 1INV +1 &2 -120 20.0 -20.0
B306 3% O = &T -110 -27.0 27.0 ES5 E205 1INV +1 *2 -120 20.0 -20.0
A201 4% O = *A -130 -61.0 61.0 G5 G205 INO +1 43 -120 20.0 -20.0
G201 34 O+1 &T -130 -61.0 61.0 C6 C206 1INV +1 &2 -120 20.0 -20.0
G202 44 O = &T -130 -61.0 61.0 D101 D301 2NV = *2 -120 20.0 -20.0
G203 44 O = s A -130 -61.0 61.0 H102 H302 1INV +1 &3 -120 20.0 -20.0
G204 34 O +1 s A -130 -61.0 61.0 B103 B303 1INV +1 &2 -120 20.0 -20.0
A205 3# O +1 v7 -130 -61.0 61.0 B104 B304 2NV = *2 -120 20.0 -20.0
A206 4% O = *A -130 -61.0 61.0 D104 D304 2NV = &2 -120 20.0 -20.0
E206 4% O = ¢ A -130 -61.0 61.0 H104 H304 1INV +1 &2 -120 20.0 -20.0
D301 4# O = &T -130 -61.0 61.0 B105 B305 1INV +1 *2 -120 20.0 -20.0
F301 4% O = vT -130 -61.0 61.0 G2 G202 3v V= ¢2 -140 -20.0 20.0
H301 4# O = ¢ A -130 -61.0 61.0 F101 F301 1v V +2 &2 -140 -20.0 20.0
D302 4# O = *A -130 -61.0 61.0 D103 D303 24 O +1 *6 -140 -20.0 20.0
F302 3# O +1 &T -130 -61.0 61.0 D105 D305 24 O +1 &6 -140 -20.0 20.0
H302 4# O = s A -130 -61.0 61.0 H106 H306 2v O +1 49 -140 -20.0 20.0
B303 4& O = v7 -130 -61.0 61.0 C2 C202 1INV +2 &5 -150 -20.0 20.0
D303 4# O = s A -130 -61.0 61.0 C3 C203 1INV +2 &2 -150 -20.0 20.0
F303 3# O +1 vT -130 -61.0 61.0 C5 C205 1INV +2 &3 -150 -20.0 20.0
B305 4& O = s A -130 -61.0 61.0 A6 A206 1INV +2 *2 -150 -20.0 20.0
A202 3# O +2 &T -150 -93.0 93.0 G6 G206 2N O +1 &2 -150 -20.0 20.0
E204 34 N-3 vJ] -150 -93.0 93.0 H101 H301 1INV +2 &5 -150 -20.0 20.0
H303 3# O +2 vT -150 -93.0 93.0 C4 C204 3v V+1 *2 -170 -58.0 58.0
F304 4% O +1 *A -150 -93.0 93.0 A2 A202 3NV = &2 -400 -298.0 298.0
D306 3« S-3 vA -150 -93.0 93.0 G3 G203 3NV = »2 -400 -298.0 298.0
C204 34DS-2 SA -300 -266.0 266.0 H103 H303 3NV = *2 -400 -298.0 298.0
C205 44D N-2 2K -300 -266.0 266.0 F105 F305 3NV = &2 -400 -298.0 298.0
E205 44D N-2 &K -300 -266.0 266.0 H105 H305 3NV = »2 -400 -298.0 298.0
B304 34D S-2 vA -300 -266.0 266.0 D106 D306 3NV = *2 -400 -298.0 298.0
C206 3NV +2 a7 -460 -406.0 406.0 Gl G201 3NV +1 &2 -430 -323.0 323.0
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